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Salut! Unité K — Sortir dîner

Chez le glacier / At the ice cream shop

•	 une boule de glace = 1,20€  deux boules de glace = 2€ 
Thomas says, "Je voudrais deux boules de glace à la banane, deux boules de 
glace à la menthe et une boule de glace au caramel, s'il vous plaît." 
How much will Thomas's ice creams cost altogether?   

•	 Work out the combined cost of the ice creams mentioned in Q1 and Q2.

Now Try These

Q1	 Read the sentence in the speech bubble and 
then write on the lines what it means in English.

Q2	 Unscramble each French sentence and write it on the line. 
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coûte
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dix

Je voudrais deux boules 
de glace à la framboise, 
s'il vous plaît.
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